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General Instructions :

1.

2.

Candidate must write his/her Roll Number on the first page of the Question
Paper.

Please check the Question Paper to verify that the total pages and total
number of questions contained in the Question Paper are the same as those
printed on the top of the first page. Also check to see that the questions are
in sequential order.

For the objective type of questions, you have to choose any one of the four
alternatives given in the question, i.e., (4), (B), (C) and (D) and indicate your
correct answer in the Answer-Book given to you.

Making any identification mark in the Answer-Book or writing Roll Number

anywhere other than the specified places will lead to disqualification of the

candidate.

(@) The Question Paper is Bilingual, i.e., English and Hindi. However, if you

wish, you can answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,
Telugu, Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in
the box provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
questions will be yours only.
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6. Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth,
Earphone or any such electronic devices in the Examination Hall.
7. In case of any doubt or confusion in the Question Paper, the English version
will prevail.
8. Write your Question Paper Code No. 69/SS/A, Set [A] on the Answer-Book.
AT 37T -
1. wenefl Y- % T8 I8 W I AT 3w o |
2. YA YH-UA HI AfF o foh THA-IF F HA IBT qAT YT HI 31 € @ g o guw g8 *
T8 W T 2| 39 91 i St ft L Fop A wiew w9 H 2
3. IS Wl § 39kl TR faehedt (A), (B), (C) U1 (D) § & g Ueh IW A1 & a1 & T8
IR-YfEThT § 319 T I ford |
4, IW-Yfeqent # vgam-Tag oM 3ran ffde Tt & sifafeh Hal ot STgshams forgn W wdeeff i
3T SEAT S|
5. (%) TH-UF hael IS /T w1 21 R oft, afe s =R @ = @ e T e v A
IR Q Hohdl & ¢
st fadl, 33, ool sTer, afiet, Ao, weS, I, TS, e, TSR, hishuf,
afrgd, i, Jure, Sy, dehd 3 i)
FHUT IT-f&rent 7 feu U atem § ford foh a1 forg wwn & 3w fow @ 2
(@) afe 319 fa=d) wa IS & FAfofes foreh 3= v o o fored €, ) Il ! gHeH | 89 arel
Ffet /et 6 et haet smaeht gt
6. udemelf 1 e g # hogpoiet, HIEEA BH, U, THH 4 fhet ft sorerei-en 3T i
o W i AT T R
7. Y- H el ot TR % Hag sreEn gfawn i feufa o il ateTg & W B
8. 3TUH IT-YIETHhT T JT-T I B Fo 69/SS/A, T [A] fet@|
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Time : 3 Hours | [ Maximum Marks : 100

gu 3 " | [ quifsh : 100

Note : (i)
(ii)

(i)

(iv)

fdw: (i)
(i)

(i)

This question paper consists of 47 questions in all.

All questions are compulsory and carry marks as indicated against each
question.

Section—A consists of Question Numbers 1 to 30 as follows :

(@) Q. Nos. 1 to 20 are Multiple Choice Questions carrying I mark
each. For these questions, you have to choose the most appropriate
answer from amongst the four choices given as (A), (B), (C) and (D).

(b) Q. Nos. 21 to 30 are other Objective-type questions. Marks are
indicated against each question. Attempt as per instructions given
therein with each such question.

Section—B consists of Question Nos. 31 to 47 :

(@) Q. Nos. 31 to 37 are very short answer-type questions. Each
question carries 2 marks, to be answered in the range of 80 to
120 words.

(b) Q. Nos. 38 to 44 are short answer-type questions. Each question
carries 3 marks, to be answered in the range of 150 to 200 words.

(c) Q. Nos. 45 to 47 are long answer-type questions. Each question
carries 5 marks, to be answered in the range of 400 to
500 words.

™ Y- T A 47 T B

aft g e §| Y% Y9 % 3 3Tk "md few U E)

WUe-% U YH @ 1 ¥ 30 d% IR §

(a) TR HEA 1 ¥ 20 T SgOhedd Y &, THH Yo% T 1 3% H Bl T9H
g ¥ feu MU 9w faswedi (A), (B), (C) 3R (D) ¥ & 999 IWh foheq i1 <=4
IR ford|

(b) I TE 21 ¥ 30 I TEE THR & I 8| Th T & 3k 39 TN &
e few T #) g w9 % fore few o RS % sER s gl % S d)
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(iv) @ue-ad U3 & 31 ¥ 47 % @ :
(a) Y9 TEM 31 ¥ 37, 2 3% & 3 AU YHR & WA 7, e W 80 ¥
120 wisgt ¥ & #
(b) o T 38 W 44, 3 37 o AT FHR b TN &, T W 150 § 200
wegi H ¢
() I T 45 T 47, 537 & <H-3TT THR & YA &, ’Hh IW 400 ¥ 500
g # & E

e N
(1) Answers of all questions are to be given in the Answer-Book given to you.

aft Jodt % I TR § TS IH-Yfeawt § & ford

(2) 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

T YW-F I TG4 & fou 15 e =1 g9y feanr T 81 wa-9F 1 faaqwr Quet o
2:15 & fpan ST gUEt 2:15 99 ¥ 2:30 & d% BT hadd YI-TF I GG IR
3 A % SN d IT-YEHI T DI IR T8l fora|

SECTION-A
Eus—h
Answer all multiple choice questions :
Tt sgfahedta gl % IW AT
1. Participatory video is different from usual filmmaking as

(A) it aims to build the participant’s social influence

(B) it is a dynamic process of community-led learning
(C) it does not require conventional literacy to operate the media
(D) All of the above 1

Teyrht dife am=r feen-fmfor @ fim 2, wifs

(A) 3UHT LT HUF o |HETSTH U9E 1 fmior s 3

(B) I8 HUGE FNT HATId €@+ i T Tiasial Sishal 2

(C) wifga = T=nfora & & fofu Uiufies @neran i evaeshar 7@ gl
(D) Sudw &ft
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2. Most of the newspapers emerged during the period of freedom struggle.

Identify the newspaper that did not emerge. 1
(A) The Indian Express (B) Amrita Bazar Patrika

(C) The Tribune (D) The Statesman

JTYRTS THER-TF TaAd] TU™ & G & W 30 FHER-UF 1 91 Jga-T ST 39
TRy &l 3WT|

() fo sfea wFadg (B) 3/gd &I9IR G

©) 7 kg (D) § weai

3. One of the key theories exploring gender language inequalities that laid
importance to the socialization process is the

(A) diffident theory (B) social power theory
(C) difference theory (D) deficit theory 1

AfiTeh WTST SEEHA 6 N B 9T IHE g § 8 Teh, S FHISieRor Skt %
fore wew w@ar 2, 9% 2

A) T fage (B) @R v fargra

(C) IR fagra (D) =l fagea

4. The Indecent Representation of Women (Prohibition) Act that prohibits the
derogatory portrayal of women in media was passed in

(A) 1956 (B) 1995
(C) 1986 (D) 2000 1

Hifgan o nfgensti o ATHHESHS =E0 (Ye3H) W Ush e d1elt Afgenati w1 313 fomm
(Fray) rfafrm o foear mm e

(A) 1956 # (B) 1995 H
(C) 1986 # (D) 2000 ¥

5. Which Article of the Constitution of India ensures that the State shall
not deny any person the equality before the law and equal protection of

the law? 1
(A) Article 17 (B) Article 16
(C) Article 15 (D) Article 14
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YA & GiIgM &1 SH-T1 =g fuifa s g 6 = foref of =afe &+ &
THY THEAT 3 HET & THH W § dfad el hL Tehdl ?

(A) = 17 (B) =< 16
(C) =g 15 (D) g=e 14

6. What is necessary for any marriage to be regarded as a legal marriage
in India? 1

(A) The age of the female is to be 18 and that of the male 21 years
(B) Neither of the party should have a living spouse

(C) The parties are not within the degree of prohibited relationship
(D) All of the above

yrd § frel oft faamg 1 3 99 99 % fotw w®@ smewEs 77
(A) dfgent 1 3mg 18 od aur gey N ;Y 21 99 BN R
(B) Terelt oft uar w1 Sfifoq Sfiamameft 78 g1 =nfey

(C) verehR faftg weel o diwn & i T @

(D) 37w &

7. What should a pregnant woman avoid in her meals? 1
(A) Fruits and green vegetables

(B) Milk and milk products

(C) Processed food and canned food

(D) Light meals in small quantities about 5 to 6 times a day
Tt Afge w1 I WieE § wn 9@ @E =g

(A) T 3R dfesrat

(B) 39 3R qu-3ITg

(C) wEwpd @ e 3R fewmee @ v

(D) T & T 5-6 SR HH HET H Todhl HISH
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8. National Literacy Mission has been revised and is now referred to as

(A) Saksharta Abhiyan (B) Beti Bachao Beti Padhao
(C) New Education Policy (D) Saakshar Bharat Mission 1
TS e fiem w1 gmifa fram e @ 3R 3@ 3@ fRW w9 A M1 S 27
(A) weRar IR (B) & S=3M S UgIsn
(C) 7§ e Hifa (D) weR wRa forem

9. Which article under the Directive Principles of State Policy outlines certain
specific provisions for women in India? 1
(A) Article 15(3) (B) Article 39(a)
(C) Article 16 (D) None of the above

T % HAifd Freves fg % d8d HH-W 3geog R H Algensii % fou $o faRe
Y sl ERET Ted BT 87

(A) FF=se 15(3) (B) 3g=we 39(a)
(C) 3IT=8g 16 (D) 3w ¥ ¥ HS T

10. Under Mahila Samakhya Programme, which alternate structures were
developed to empower women? 1
(A) Counselling centres (B) Nari Adalats
(C) Sanjeevani Kendra (D) All of the above

e U HREHA & JAAId ARAIS hl HIRD §IH 6 [ HiA-H dehfcdsh AT
fepfta &1 7

(A) W w5 (B) AR 3fqrerd
(C) wofardt g (D) IR® @t
11. The roles that men and women play in our society are essentially a
result of
(A) capability and skill (B) gendered socialization
(C) colonial experiences (D) education 1
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AN 99 ¥ IRV 3R Afged, S fyed v €, 9 gora: e afomm §9
(A) & 3R e (B) form-smamia dwmsieRton
(C) Ifuftafes swa (D) Torem

12. What is not true about the social practices during the Rig Vedic period that
impacted the status of women in society? 1

(A) Women could pursue the life of religion
(B) Infanticide was not practiced
(C) The practice of Sati was prevalent

(D) Monogamous marriages were preferred

Fdfceh 1A o S HHINh 13T & 9R § =1 99 78 g, oo gfgensti i fufa
1 gTfaq fepame

(A) ufgemd enfies Sfem S wepct off
(B) YUrEcdn =&l shi St ot

(C) Gciyen yafea ot

(D) Ushal faarg 6t g yafea oft

13. The Rainbow Flag also known as the Gay Pride Flag was designed by

(A) Ann Oakley (B) Gilbert Baker
(C) B. B. Whiting (D) Tom Doerr 1
T R SN WEE W o AW § ft S A 7, fhEeh grRr feSed feRan mam?
(A) W et (B) fiewd st
(C) . . =ewfin (D) <M W

14. Which of the following is not associated with the Bhakti Movement? 1
(A) Emerged in the medieval age (B) Was a Pan-Indian Movement
(C) Women could not be saints (D) Was a means to attain salvation
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frfafea & & ®H-w1 wie STcen & Fafud T8 27
(A) TR § I (B) Th Ifad YR A< o
(C) #fgad §a & & dehdl off (D) T I T EIEA o

15. The kind of family where the married woman stays with her husband’s
family is a/an

(A) patrilineal family (B) matrilineal family

(C) patrilocal family (D) avunculocal family 1

98 ufEr, foo ferfsa afeen o9 ofd & ofEr % @1y @ 2, 98 @

(A) Tugasfia afEr (B) WIqasiE aiEr

(C) Tuqeuria 9fEr (D) 3TaEelhd TNAR (WIgasia HuTs)
16. Who among the following will not be regarded as a consanguinal kin? 1

(A) Nephew (B) Husband

(C) Sister-in-law (D) None of the above

frafafiga § @ fea e feder =& amr S e
INBRGIEL (B) ufa
(C) /e (D) 3 ¥ HIg T&

17. Shri Mahila Griha Udyog Lijjat Papad, an Indian woman’s cooperative,
was a brainchild of

(A) Ela Bhatt (B) Medha Patkar
(C) Verghese Kurien (D) Nilesh Mansata 1

oft wfeen T 3um fosiq ue wRd wfgensti & gewifiar @ fafifa fraes femm i

309 87
(A) 3T Wg (B) WUT U
(C) =rffa P (D) R TEeT
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18. Which among the following is not a factor that deters women from
employment in India? 1

(A) Family responsibility
(B)
(C) Lack of safe and secure work environment
(D) All of the above

frafafga @ @ =9-u1 98 *r T 2, S 9Ra § gfeenadi s USTR A Ushdl 27
(A) TiETies et
(B) Toqemimcmss ARl

(C) YUerd H IR T A9

(D) 3w @t

Patriarchal mindset

19. Identify the health scheme from the clues below : 1
* Started in 2011
* Focus on free and cashless delivery

* Aim was to reduce out-of-pocket expenditure for pregnant women
and infant

* Free drugs and other consumables and blood if needed

(A) PMSMA (B) MCTS
(C) JSSK (D) RMNCH+A
frgr feu U Hehdl ¥ WET AT Skl gAY

x+ 2011 ¥ 3I®

*

-3 3R Thdl Wea PIaW (Y o) W AH higd BT

FaHT IevT Miad ufgenstt st R % fou Se @ g9 9 wd w1 wE
T 1|

*

« T9:3c% qaETEAT 3N 31 U Sy 37 SAITIHdT TS W T TS AT

(A) o THo WHo WHo To (B) WHo Hio o THo
(C) So THo THo ho (D) 3o TWHo TAo Hlo Tdo + Wo
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20. Prevention of skewed sex ratio due to female foeticide and infanticide is
possible if

(A) all girls are educated so that preference of sons is diminished

(B) gender discrimination is reduced by imparting awareness

)
(C) all girls are educated and encouraged to be economically independent
)

(D) All of the above 1
HAT YR qAT YOS o RO farred formura At Tepum Hww 7 Afe

(A) aft wefrai =1 fifaa foran wmo afer st & warfieear 9 &

(B) SITEehdl hotreht fomT Wgwme =i &0 foham ST dehar 2

(C) =t wiefpat w1 ffara fohen w3 onfdfes &9 @ waa 8 & ot Wicdnfea
[ERIRS 1Y

(D) 3w @t

21. Fill in the blanks : 1x3=3

(a) was the first to raise the issue of the relationship between
gender and language.

(b) , as an effective form of mass media, gives a viable platform to
marginalized communities to raise their voices about the issues that
affect them.

(c) The difference model, as one of the key theories of gender language
inequalities that emphasises on socialization process, is also known

as

b st 1 gfd hifsm
() fom 3R w1 % «ff9 TEY *1 gE I8H 9 TEd ARG A

(@) SEER O o Y9TE 9, FIRT W U TG I 3 & b aR H o
AES IBH & U T g™ I YeH HAT B, A I= I A B

(1) 3T Hisd, foim a1 EmHA & yg@ g 4 ¥ T 8, S TSt gfskan
T IR ¢ 7, W A S S R
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22. Fill in the blanks : 1x3=3

(@) A family that comprises of a man with more than one wife living with
their children is called a family.

(b) The process of has brought about significant changes in the
family system due to large-scale migration.

(c) In the Census, unpaid workers on farms and family enterprises
were added to capture women’s economic activities more realistically.

fo Tt 1 T i
(%) 9& ufEmr, el s o o uw @ afes ufoEl 3 w= % Y W @,

____ hgdm Bl
(@) s THH W TETE % HRUT NER YUt H Hgwqul qiedd 3§
(M SO E Edl | 3R iiETies SEei A, afgenstt i sl feufaat w5t st

IRAfThdl o WY gAM & foIu, Fdafes sfieht @ off wftet fopam 2|

23. Define in one word or phrase : 1x3=3

(a) The property of a Hindu bride conferred as a token of love by her natal
family

(b) An act of an unauthorized Internet user who creates fake profiles,
edits the original picture and then reposts it

(c) The act that prohibits the derogatory portrayal of women in media
through advertisement, publication, writings, painting, etc.

Teh e I1 Iy H qRwTYg i
(%) T e uRem i gead 1 Gufy 3u% URER g0 @R % S % w9 # & T

(@) T IMUHA e TR H Hed, (SO Tohell THEA 918, A &R Hl
gurfed feam 3R R @ uie fepar

(M) g Autem fommm, g, ofed, fosma anfe & arem 8 afgenst & saEsHS
fezor W U o 2

24. Answer the following in one word or phrase : 1x3=3

() The kind of relationship developed through blood relations, like
parents and their children
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(b) India’s first transgender lawyer who studied law against all social
odds, faced tremendous abuse because of her gender but succeeded
due to her strong resolve

(c) The number of persons employed per thousand persons, used as an
indicator for analysis of employment situation in the country

Frafafad 9ot & W T s A1 G OGN

(%) ThH-watt, Aar-fudr 3R 9 s=1 & wem ¥ faefad g9 aren fwar

(@) 9Rd 6 vgelt Tresiet gehier, frem avft amorfoes gfoRll o sTes[e Iepera &t UeTs
1, IFH! FH T % SR TG GHAGR 1 FHAT HT T81, Al 310 3@
Thed o SR 3= Therdr et

() ufa g9R =fra W g safeat i @@ e § O i fRafa & fagemor &
et weh Gohdh & &Y ° T I Sl B

25. Write True/False : 1x2=2

(a) Media can become a catalyst for change by altering its depiction of
gender roles and aspirations.

(b) Advertisement, as an effective mass media, always represents and
reflects the reality.

I /3w fofleu
(%) wifean <ifies qfieprani 3R amepianatl &1 dgat oo wieh agaE 1 I8 a7
Thal |

(@) fommom, arfaehdr 1 Td HH BT TH I9E AT

26. Write True/False : 1x2=2
(a) All the different sources of socialization often reinforce each other.

(b) The behaviour process according to a particular gender is called ‘doing
gender’.

I /3w Tl
(%) TR & aoft fafie §ia 3T Th-g@ I oeed B 2
(@) fopelt T fomm & 3gaR =eERr ufshan w1 “fomm =yaer/yfte’ *&d 21
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27. Write True/False : 1x2=2

(a) The Government of India adopted the National Policy for Women
in 2001.

(b) A gender biased society ensures that women have their rightful share
in all educational programmes and activities.

g /3 fafeu
(%) ¥RA TR 4 2001 A U Afgen HAifq &1 smo=mm)

(@) <ifies YeuTa-3MuTid auTe a8 gHfvad star 8 T afgenst =1 ot Aferew wriswat
3R 3= nfafafert § 9 3faa fewm firer

28. Write the full forms of the following : 1x4=4
(@) SCHIS
(b) PHC
(c) JSSK
(d) ASHA
frffiad % oo &9 frfau -
(%) THo Hlo Too IHTgo THo
(@) o THo Hio
(T) So WHo THo ho
(d) To THo TAo To

29. Match Column—A with Column—B: 1x4=4
Column—A Column—B
(a) Article 14 (i) equal pay for equal work
(b) An important reason for low (ii) adopted Women Component Plan’

access to education
(c) NSSO (i) ensures women right to equality
(d) 9th Five-Year Plan (1997-2002) (iv) lack of transport facility
(v) universal access and enrolment

(vi) National Sample Survey Organization
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HIAT-% ] HIAH-T & T FaH HifSw .

~ ~

HRIAA-h hIAR-&
(%) IT=Be-14 () @I e % for T aa
(@) Wen d w0 Ugd 1 Th (i) ‘“AfgAT T AT I YA AT
Y@ B
(M) THo THo THo 3o (iij) AEST H THEA H A(UHER gRRET
HT 2l

(a) off duedly IASHT (1997-2002) (iv) UNEE Gadm &1 3I9E
(v) WTEHIHS TET SR AHRA
(vi) TER FEAT TEIT TS

30. Read the passage below and answer the questions that follow : 1x4=4

State has a specific and significant role to play in making education
accessible, available and approachable to all. To achieve this larger aim
government makes various policies, schemes, programmes and laws. These
initiatives are taken to promote gender equality at larger level. In India,
despite the fact that we have right to education as our Fundamental Right,
children are easily seen outside schools for doing various kinds of labour.
Many girls are out of school and the situation is worse for transgenders.
Women have often been discriminated against in the fields of education,
work and career choices. Stereotypes in curriculum, textbooks and
pedagogy, ideological barriers of male domination in various academic and
professional fields prevent women from exercising available rights to achieve
equal status in society. There are many obstacles in policy formation and its
implementation due to social, cultural and economic barriers and people’s
minds. Various initiatives have been taken by government to promote gender
equality in all spheres of life that includes social and educational equality,
economic empowerment and political participation.

(a) What prevents women from exercising available rights to achieve
equal status in society?

(b) Under which Article of the Constitution, do we enjoy education as a
Fundamental Right?

(c) Why does government face difficulty in policy formation and
implementation?

(d) Name any government initiative that has ensured equitable education
for all genders.
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f= feu o mEme @ afer 3R UB MU W % IW GRC

e @1 vt % foT 98w T, I9cTed SR g9 S9M H UST Hl T Ol 3R wEwl
qfirhT 21 39 93 Ie¥T I IH HH & 10 aepr fafie yepr &t Hifqat, e, sriswe
3 HMF T 81 A Ut 9 T W ATk FHMAT bl Sl ¢ b fo1e Y At &1 I
H, 39 a9 & wIasg 6 e g mifere iR g, s= 1 faftm yeR % o s
TC TRAl o SR STEM! & @1 S Gehdl 81 3 WSfRAT Thol Tl Sl 8 3R gisist
$ fafy @ 3t off wue ) fen, M 3 ssifasst foemedt & & d afgenstt & @y
I Yewrd o ST B| UISeIshH, Wid-TEdehi 3R fren-wma o wfgerfea-fafim
Seaforer 3R el & § YRy o= 6 Juries e afgenstt w g9 § gHE gt
ITH T % AT 3ucTeds Afehrl 1 AW & & Ushd! 8| THINGR, Tihfas MW MTiH
e 3R A & feum % R fifq-fmior 3t 3ue wEteEE o w T1an §| TR
g S & @t &= d <iffes auEar 1 "ot ¢ % fou fafim 9gd i w8 €
Tt 3R Aferes guman, e geifthentor 3t Torifaes wrfierd s 21

(%) HfgensT o TAS H YfGsT 96w & fou Sueey e w1 TEN S @ R
UehdT 27

(@) dfoum & frm =8¢ & dgd &f e Oifers IR & &9 § w27
(M "R & Afg-Fmin 3t sl § e w= adt 27

(a) foet off awerl dgd (IoFT) 1 AW waee, foEd wft fom % fau wme faen
giifeea 6 T8 R

SECTION-B
T is—g

Answer the following very short answer-type questions :

3fq T T % IW GNT

31. How does socialization occur passively? 2

oo fifssss &9 8 8 8iaT 87

32. What do the archaeological sources indicate about the position of
women in the Indus Valley? 2

oy ardt mrar | wfgenett i fufa & foww & quarfers s@wy @ dhd ¢d &7
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Or / HY4l

What was the role of marriage according to Dharmashastras?

gusIEl o FIER foamg i @ fier ofi 7

33. Briefly explain any two factors leading to gender conflict. 2

Afiieh HEud I FH ¢ ol fohedl q HRl 1 HEY H 3Ig@ Hifm

34. What is meant by sexual harassment? 2
I Icfied ¥ R/ A 7Y
Or / 3ga1

The Delhi gang rape case (December 16, 2012) resulted in the passing of
which act? Which sexual offences were defined and included in the act?

feght omfes aotepr Ame (16 fgEer, 2012) % ufummesd swE-a1 Afufem aifa
gan? afufEm § HH-¥ A9 suel & afonfya et wfie fn e 27

35. Do you feel that there exists a gender conflict in our society? Give
arguments to justify. 2

1 JMHT T B 6 gAR wmet @ <fires gud dieg 37 Ees Iifuer & forw @b A

36. How did the ‘Bhikkhuni Sangha’ prove to be liberating for women? 2

‘Trergft wa' Afgrstl & fow fhe YR gfhere fag g3 e

37. What was the purpose of launching the Saathiya Scheme? 2
AR ST IE B DT FAT 39T AT?
Or / 391

What does the Government ensure through Janani Shishu Suraksha
Karyakram (JSSK) 20117

ST OS] HRem RisH 2011 W% WieW ¥ R A4 @1 gifved feer g7
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Answer the following short answer-type questions :

T T % IW AR

38.

39.

40.

41.

42,

43.

340/5S/A/624 18 AR

In the context of language, gender disparities are reflected in which two
major domains? Explain with examples.

vTyT % "ed H Wi srEuHard o 9t g el # ufeifda @t 87 Ierew afed wm
it

What do you understand by kinship? What major purposes does it serve?
fgdel @ 39 N THEd &7 T@ BH-W YH@ ILgAl B QU HLdl B7
Or / 37Ydl

Why is marriage considered to be a social institution in India?

qd | foae w1 Th g 9 % ®9 § & qHED SdT 87

Did the Bhakti Movement prove to liberate the women of the medieval
period?

w1 Wit QI 30 HIA hl AGAHA b [T Hftharrsh &g gam?

Briefly explain the ways by which Samagra Shiksha Abhiyan (SMSA) has
promoted the education of girls in India.

g 4 9qrst f guu Wen shiem 3 ara | asfeai i fen = forg g seEr fem)

How effective is the folk media as a means of mass communication?

SHEER % G19H % &9 § ek Hifedr fear gareh 27
Or / Y4l

“Gender equality is an important component of freedom of expression.”
Do you agree with the statement? Give reasons in support of your opinion.

it A ARt i TEaAar 1 T UEwUl e B FT A 3H HUYF ¥ HEEd
87 39 HA % THAT H BN FaRy)

What maintenance rights are given to the women under Indian law?

R B % dgd Afgensil 1 Wo-giNe % F=@ Afer few o oEe



44. List out the commonly experienced biases by girls in most households in
rural India? 3

yrefior wRa | Al g w0 # foRd SRR % qatue Y Sryfa <t At B 7 gEieg hifsu)
Or / 379aT

Write a note on Mahila Samakhya.

‘Aiger T’ W U feopoft fafau)

Answer the following long answer-type questions :

dH -3 I % IW N

45. Our gendered identity is an integral part of our identity. Explain. 5
BAM e 989 SR 989 &1 Th SA9d 3 8| T HIT)

Or / 374l

Explain the socio-economic changes that impacted the position of women
in the medieval period.

AHIAT TS | dfgensti 1 fRafa = wvifoa w0 a9 amfoes-snities wron 6
ST hif|

46. Explain why and how the transgenders have not got a fair deal from the
point of view of workforce diversity and inclusion. 5

FEiee fafaedr 3 gaEyH & gfdsm & gesiet S 3fua Srasr # 3 S8 & e
oy hHifSu|

Or / 37¥ql

Explain how women’s cooperatives have proved to be a strong step towards
women empowerment with the help of specific case study of Lijjat Papad.

fersta urae <1 fafde wu = 1 geEar § wase {6 f6H yer qfgen gewiar qfgen
TITReRT0T Shi fGRl § U HYRH hed g gl

47. What is dowry? How has the Dowry Prohibition Act, 1961 tried to deal with
this social evil? 5

T 1 27 ggw Ty AfufEm, 1961 3 3w amiiye quE | fued & forw wm v
fepu 2

* Kk Kk
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